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QUESTION 1

Which OES NetWare service can be used to synchronize the information stored in your eDirectory tree with a Microsoft
Active Directory domain?

A.iSCSI

B. Clustering

C. Identity Manager

D. Archive and Version Services
E. Service Location Protocol (SLP)

Correct Answer: C

QUESTION 2

Your OES NetWare server is experiencing problems during startup. You suspect the problem lies with a command in
the AUTOEXEC. NCF file. You want to boot the server without processing the AUTOEXEC. NCF file.

Which command can be entered from the DOS prompt to start the operating system without executing AUTOEXEC.
NCF?

A. SERVER

B. SERVER -S

C. SERVER -NA

D. SERVER -NS

E. SERVER -NOAUTO

Correct Answer: C

QUESTION 3

You\l've just upgraded the 100 Mbps Ethernet network board in your OES NetWare server to a Gigabit Ethernet network
interface. The manufacturer included a floppy diskette with a LAN driver named NTI1000.LAN with the board. Assuming
that the server\\'s floppy drive is assigned drive letter A, which command will load this driver from the diskette?

A. NTI1000.LAN

B. LOAD NTI1000.LAN
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C. LOAD A:\NTI1000.LAN
D. \MNT\FLOPPY\NTI1000.LAN

Correct Answer: C

QUESTION 4

What does the eDirectory schema use to define the types of objects that are allowed to exist within a container object?
A. Partitions

B. Object values

C. Object classes

D. Containment rules

E. Object properties

Correct Answer: D

QUESTION 5

Click the Exhibit button to begin.

1
SLC CGrayson
‘CORP
' g —i
f% KTracy E@ 1S

JJenkins

What is the context of the JJenkins object?
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A. OU=IS.0=DA

B. OU=SLC. O=DA

C. OU=IS.OU=SLC. O=DA

D. OU=1S.0U=CORP.OU=SLC. O=DA

E. OU=IS.OU=CORP.OU=CS.OU=SLC. O=DA

Correct Answer: D
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